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2

00264 X2 / ndf 3.293e+05/ 73 oullLD

Ce p0 0.02555 + 4.346e-07
0.0262 e AR 1= ~ -

: . Entries 74
0,026 T+ I

|_’ (J o PY - Mean 07739
00258__* """ .'..'...'. """" . """"" . """"""""""""""""" i

e e o o ° L)
0.0256 — @ 09 .- ....Qu.. .......... ‘_ o8k StdDev 6118

e hd °
0.0254:— """""" o @........ [} f """"" '.. """" .. I

- (]

- ¢ ) O i
0.0252 - -r-rrrrrrrr e g

C o e [
0,025 - -errer e 06k

= [ J °® o
(O N1721:] SRS PP P I
0024 [ - I
00244 F—-++svmresensi e @ 0af

T oost O OKED @O TR D TH <HIO NS IR LAGD TN <D TR <EHRO NI Tha) S 0%EN O 0t LRGD T <o i

R R TR R RN E RS -

[ Entries 74 02
Mean 276.1
LStd I.Dev.... 238.1 -
OII |||||||||||||||||||||| |

-8 -6 -4 -2 0 2 4 6 8

=
=l
=]
=l

Eipdoipio-pidepbdejbdoj-bdejopdoiofidojrpdoiepdeiopdofopideibdeipdojopdojopioejidoi cbddebidofidoj}




atl2_rms vs run
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ds_rms vs run
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yield_cav4bQ_mean vs run
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